Homework: Megalopolis
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Possible answers
The population of Shenzhen went from 30,000 to 3 million people in less than  20 years (lines 8 to 9)

The city will be the biggest city on earth, with a population of 40 million people (line 8)

The old China of bicycles and little red books is disappearing, and the new China will be a world of wireless phones and capitalism (lines 27 to 31)

The Chinese don’t worry about losing traditional ways of life. (lines 34 to 35)
People don’t want bicycles. If you have a car, it means you have money (lines 70 to 72)
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1. Guangzhou

2. Pearl River Estuary

3. the Hopewell Highway

4. Shenzhen

Answers

1.
No. It doesn’t have a name yet
2.
Remarkable statistics: 

It now has a population of 3 million, and will have a population of 40 million in 10 years. 

It takes only 6 months to build a 60-story skyscraper. It takes 2 hours to travel 123 kilometers on the new superhighway.

3.
It is no longer a world of state control and bicycles, but a world of developers, cell phones, cars, and capitalism. Deng Xiaoping’s words are significant change, wealth creation, and some sort of capitalism.

4.
They welcome change and want cars and wealth. Owning a car means you are rich.

5.
It looks like big, ugly, shocking building site.

6.
Because its power, energy, and wealth will be felt all over the world.

7.
1982:
When Shenzhen was a fishing village


3 million :
the population now.

Less than ten years:
the time it will take for the population to reach 40 million.


40 million:
the population 10 years from now.


Thousand:
the number of buildings being built.


Six months:
the time it takes to design, build, and  finish a 60-story skyscrapers.


Two hours:
the time it takes to travel the superhighway from Shenzhen to Guangzhou.

